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Correctness

‘ Radius Input ‘ Height Input ‘ Output 1 ‘ Output 2 ‘
\ 2.5 \ 4.2 | 274889 | 219.9115 |

Design Question

Coding the formula just once using a separate method will:
1. Decrease the size of the code.
2. Increase the understandability of the code.
3. Increase the maintainability of the code.

4. Increase the reusability of the code.

Testing Question

Only one test case for admissible inputs is necessary to exercise the code for
the Calculate button since the code does not contain any conditionals or
loops. (Note: Additional test cases could be used for inadmissible inputs
such as negative numbers and empty text boxes.)



